P N
A A 4
SIRUI

SIRUI, Capturing Your Imagination!

Instructions
PILOT Series

CT04 + CT5 GTO04 + GT5

SIRUI WEBSITE

GUANGDONG SIRUIOPTICAL CO.,LTD.
Add: The Third Industrial District, Wuguishan Town, Zhongshan City,
Guangdong, China (Zip Code: 528458)
Tel: 86-760-88897373 Fax: 86-760-88207062
E-mail: info@sirui-photo.com Website: www.sirui.com

Max Load
kg/lbs
10/22.0
10/22.0

Weight
kg/lbs
1.2/2.6
1.2/2.6

Retracted

Height
mm/inches

1150/45.28 1400/55.12 430/16.93

Height
1150/45.28 1400/55.12 430/16.93

A A Mai ht m m

Min Height
80/3.15
80/3.15

Min. Tube Dia.

14.5/0.57
14.5/0.57

23.5/0.93
23.5/0.93

Sections
4
4

Data Chart for PILOT Series Tripod
Max. Tube Dia.

CT04
GT04

1. Know the Tripod

Bubble Level /

—™
Mounting Platform

Accessory Port

3/8" - 1/4" Screw

Retractable Spike

Fig. 1

Column Locking Knob ®

Semi-automatic Leg Angle
Adjustment Button @

<«—— Support Legs

Center Column

Twist Leg Locks

—><+— Rubber Foot @

2. Leg Setup

=

The legs are folded when
taking out from the box.

Fig. 2-1 Fig. 2-2

Hold the tripod and pull out
the Button in place as
the arrow shown.

Pull the leg up until the
Button automatically
returns into position.

Fig. 2-3

22°
When the Button returned into position, pull the leg up to 22°,

55° or 85°. Or straightly pull up the leg to your desired angle then
press down the upper part of the Button to secure in position.

Fig. 2-4

3. Extend/Retract the legs

Pull the legs up to 22°.

Fig. 3-1

With a 45° left turn twist of the leg locks, extend or
retract the legs to your desired length. Once set,
twist those leg locks to the right to secure.

Fig. 3-2

Extend
/Retract

turning the feet.

Fig. 4

4. Interchangeable Rubber Feet & Spikes

Easily switch between rubber feet and metal spikes by

5. Remove the Hook

Before detaching the center column, grip and
rotate the hook to remove it from the column.

Fig. 5

6. Mounting Plate & 3/8" -1/4" Mounting Screw

The 3/8" -1/4" mounting screw is provided
for use with a wide variety of accessories.

Fig.6

7. Leg Tightness Adjustment

8. Accessory Ports

When the spider and legs are connected too tight
or loose, slightly loosen or tighten the Screw
with the Allen Key @ to balance and stabilize the
tripod.

Fig. 7

@ 3/8"-16 Accessory Screw Port

1/4"-20 Accessory Screw Port

Fig. 8

9. Dual-function Column Locking Knob

Pull out the Column Locking Knob to turn it as desired
even when tightened to secure the center column.

1. Know the Tripod (Fig. 1)

2. Three leg angles adjustable: 22°/52°/82°. Pull out the Leg
Angle Adjustment Buttons in place and those buttons will
return in position when pulling up the leg approximate to 70°.
The legs also can be folded down while standing up. (Fig. 2)
3. Extend or retract the legs to your desired length with a
simple half turn twist of the leg locks (from the smallest to
biggest ones) at the same time or separately then secure the
legs by turning those locks from the biggest to smallest ones
when extended or retracted (as Fig. 3 shown).

4. Interchangeable Rubber Feet & Spikes (Fig. 4)

5. Remove the Hook (Fig. 5)

6. Convertible 3/8"-16 and 1/4"-20 Screw (Fig. 6)

7. Leg Tightness Adjustment (Fig. 7)

8. Accessory Ports (Fig. 8)

9. Dual-function Column Locking Knob (Fig. 9)

Notes: The ST-125 has 5-section legs, while the ST-124 has 4-section legs.

* The company reserves the right to upgrade products and modify product specifications
without prior notice. Please accept our apologies for any inconvenience we have caused.

Attention:
i Do not exceed the recommended maximum load weight (please refer to
wx the manual).

Please make sure that the locks are securely tightened when in use.For
A added safety, please put your wrist through the wrist strap when using the
monopod.

This product should not be used in environments that exceed the
following conditions (-40 ~ +100°C/-40 ~ +212°F). And, when used in
+4 damp, dirty or dusty environments, please clean and dry thoroughly after
_* use, to assure proper functioning in the future. It is not recommended to
expose this product to saltwater. If exposed, please clean with mild soap
and warm water and towel dry.

 Please keep from high temperatures and direct exposure to bright
71~ sunlight for extended periods of time.

k Please do not leave the equipment alone in a public place, which can be
an inconvenience or hazard to others.

'\/{\ To protect your camera gear, please remove it from the tripod/ball head
when transporting from place to place.

locking system and gliding parts when necessary. Towel dry before
storing the monopod.

“ Please use a soft towel with warm water and mild soap to clean the

Under most situations, there is no need to lubricate any parts of this

i product. The addition of most lubricants will gum up the mechanisms and
reduce their normal gliding characteristics. Please call or email us if you
have any questions or special needs.

; Please keep this product away from all electrical power sources.

WARRANTY CARD! INFORNATION
—

Dear SIRUI Customer,

Thank you for your purchase of SIRUI Professional Products!

SIRUl warrants that your purchase is free from defects in materials and
workmanship under normal use during the Limited Warranty Period. The
Warranty begins on the original date of purchase on your sales receipt
and is not transferrable. If service is required, a copy of the sales receipt
must be included with an explanation of the problem.

Product Warranty Length
Tripods / Monopods / Accessories
6 years
Humidity Control Cabinet (Cabinet)
Humidity Control Cabinet (Electronics) 3years
Model: = _________ Date: -~ __________
Store: .~ _ _ __________ Serial Number:

Warranty coverage can differ from region to region.
Please see the contact information below for product registration,
information and service for the region the product was purchased in.

SIRUI 6 (six) Year Limited Warranty (3 Year Warranty for Electronic Parts).
This warranty shall be limited to repair, adjustment and/or replacement at
SIRUI orits authorized distributors option, of defective parts, free of charge
(except the cost of transportation to the distributor/service center).
Responsibility is limited to the actual cost of the item. Call or Email with
questions and service before sending any product to the center in your region.
Below is a listing of contact information for Product Registration, Service
Inquiries and Questions.SIRUI will not be responsible for expenses or
inconveniences, or consequential damages to equipment, or by breach of any
expressed orimplied warranties.

Limitations:

Warranty is non transferable.

This warranty covers all defects encountered in normal use of the equipment

and does not apply in the following cases:

1. If the equipment has been serviced by other than an authorized SIRUI

Service Center.

Damage to the equipment is due to modification (including but not limited to,

the removal of ballhead clamps), overloading, mishandling, abuse, accident,

sand*, corrosives, water damage* or not following operating instructions.

No valid proof of purchase is provided.

. Damage caused by acts of nature (including, but not limited to fires, floods or
earthquakes).

b

B

Warranty coverage can differ from region to region. Please see contact
information below for product registration,information and service for the
region the product was purchased in.

Warranty Address and Contact Information:
(Please contact the seller or the local distributor where the product was
purchased for warranty issues or questions and before any productis sent.)

1.Guangdong SIRUI Optical Co., Ltd.

The Third Industrial District, WuguishanTown, ZhongshanCity, Guangdong,
China

Tel:0086-760-88897373 Fax:0086-760-88207062
Http://www.sirui.com E-mail: info@sirui-photo.com

Service Hotline: 0086-400 830 2299

Complaint Hotline: +86-181 6563 9388

(Monday to Friday: 8:15am~12:15pm, 14:00pm~18:00pm)

2.SIRUIUSA, LLC

Add: 29 Commerce Court Verona, NJ 07044

www.sirui.com

Service: Toll Free 866-373-0829  E-mail: info@sirui.com

FOR PRODUCTS PURCHASED IN THE USA PLEASE SEE:

For full details on USA Warranty Terms and Limitations:
https://www.siruiusa.com/warranty.html

To register products: https://www.siruiusa.com/product-registration.html

3. European Service Center
Add: SIRUI Optical GmbH * Ernst-Augustin-Str.1a + 12489 Berlin «+ Germany
Phone:+49 3099194 94 00 - Email: Info@siruioptical.eu

SIRUI

Professional Photographic Equipment

INSTRUCTIONS
CT5/GT5
Professional Fluid Video Head

Guangdong SIRUI optical co.,ltd

Address: The Third Industrial District, Wuguishan Town, Zhongshan City, Guangdong, China
Tel: 0086-760-88897373  Fax: 0086-760-88207062 ~ Service Hotline: 0086-400-8302299

E-mail: info@sirui-photo.com http://www.sirui.com P.C: 528458

CT5/GT5 Data Chart

a max
S moa T

Specifications ~ Weight ~Maximum Counterbalanced

mm kg/lb Load Weight
kg/Ib kg/lb
g'll-'g/ 300x120x83 0.6/1.32 3/6.61 1/2.2

Know Your Video Head

Arca-compatible Quick Release -
Camera Plate -

Quick Release Clamp ——

Upper Bubble Level ———+

Security Pin Release Button

Tilt Lock/Resistance

Control Knob
Base Bubble Level

Panning Base ———=-

Horizontal Panning
Lock Knob

Figure 1

Attaching and removing the head

Loosen
Tighten

Figure 2

Attaching or removing the Quick Release Plate
from the camera or video camera
—

|

VA
|

/-\__/‘

Figure 4

Quick Release Clamp
Locking Knob
Handle Locking Knob

Attaching or removing the Quick Release
Plate from the head

Figure 3

Attaching the camera or video camera onto the
head

Figure 5

Precautions:

(D When attaching the camera or video camera onto the
video head, please hold the camera or video camera
securely, to prevent accidentally dropping your
equipment.

@ When attaching the video head onto the tripod, please
hold the video head securely, to prevent accidentally
dropping the head.

(3 Temperature usage range: -20°C ~ 60°C (-4°F ~ 140°F).

@ Tilt angle of the head: -60° ~ +90° .

® When the balance is set, if you attach additional
accessories, you will need to re-adjust the horizontal
balance.

1. Know Your Video Head

2. Attaching the video head

(D To attach the video head onto the tripod, you must
make sure the mounting screw of your tripod is 3/8". If
it is 1/4" you will need to get a 3/8" screw or adapter.
Many professional tripods have reversible mounting
screws. Please check your tripod manual for more
details.

(@ Tighten the Horizontal Panning Lock Knob, to lock the
head and prevent it from turning. As shown in Figure 2,
align the 3/8" mounting hole at the bottom of the Video
Head with the 3/8" screw on the tripod. Hold by the
base of the Video Head and rotate the Video Head in a
clockwise direction until it is locked tightly.

3. Removing the Quick Release Plate from the
head
As shown in Figure 3, loosen the Quick Release Plate
Locking Knob in a counter-clockwise direction, press the
Security Pin Release Button. Then you can remove the
Quick Release Plate from the clamp by moving it
forwards or backwards.

4. Attaching the Quick Release Plate onto the
Camera
As shown in Figure 4, attach the 1/4" or 3/8" screw into
the tripod socket of the camera by turning in a clockwise
direction. To remove the tripod screw that is not required,
before attaching the QR plate onto the camera, pull out
the rubber plug on the bottom of the QR plate and slide
out the screw. Replace the rubber plug to prevent loss of
the remaining screw.

5. Attaching the Camera with QR Plate onto the
head
As shown in Figure 5, (after you have loosened the QR
Plate Locking Knob by turning it counter-clockwise), slide
the QR Plate laterally into the Quick Release Clamp and
tighten the clamp by turning clockwise.You can slide the
QR Plate into the clamp from either side.
Caution: Before you release your camera, please make
sure the QR Plate is properly seated in the Quick Release
Clamp and the Quick Release Locking Knob is tightened.

Adjusting the balance of the camera or video
camera on the head

Figure 6

Removing the camera or video camera from
the head

Figure 8

Use of head during video shooting

Figure 7

6. Balance adjustment on the head with camera attached
As shown in Figure 6, loosen the Quick Release Clamp Locking Knob, move the camera backwards or
forwards until the bubble level on the clamp is centered and lock the Quick Release Clamp Locking Knob.
Caution: Before you make the Balance Adjustment, please make sure the tripod is level by checking the bubble

level on the panning base of the video head.

Note: You may need a longer QR Plate for bigger camera systems. SIRUI has a wide selection of Arca-
compatible TY-Series Quick Release Plates to choose from.

7. Using the VA-5 when shooting videos

¢ The VA-5 has a strong counter-balance system that provides up to 1kg (2. 2 Ib) of resistance. As shown in
Figure 7, by turning the Tilt Lock/Resistance Control Knob you can control the amount of friction needed to
make your camera and video camera securely stay at any tilt position without locking it into place.
¥ Turn the Tilt Lock/Resistance Control Knob in a clockwise direction to increase resistance and to lock the

head in position.

2 Turning the Horizontal Panning Lock Knob in a clockwise direction can lock the head in a position.

3 The video head can horizontally pan your camera or
video camera 360°and tilt forward 90° and back 60°.

. Removing the camera or video camera from

the Video Head

As shown in Figure 8, loosen the Quick Release Clamp
Locking Knob, press the Security Pin Release Button,
then slide out the camera and QR plate. You can slide
the QR Plate out of the clamp from either side.

. Removing the QR plate from the Camera or

Video Camera
As shown in Figure 4, loosen the screw in a counter-
clockwise direction, and take off the QR plate.

10. Storing the QR plate on the Head

As shown in Figure 3, loosen the Quick Release Clamp
Locking Knob by turning in a counter-clockwise
direction, and slide the QR plate into the clamp. You
can slide the QR Plate into the clamp from either side.

11.Removing the head from the tripod or

monopod

As shown in Figure 2, tighten the Horizontal Panning
Lock Knob, to lock the head and prevent it from turning,
then turn the whole head in a counter-clockwise
direction, until the head is removed from the tripod or
monopod.

Specifications are subject to change without notice.



= B . _ e+
A d | s — N — . 1. NRFE (BAFR) —_—e
S BNt 2. SHERRFRAEAT 3. SRS 4. SRS ORISR wm B ;o g
| o 2. =HIETTE=MMAE, H51£97922°, 55°, 85°; it BHNEE:
BN BT | Ko S 7l e = PN o 4 s e RSB B P E S S iR, IRE S A S
! - | , |g\70’ o H RAZIEE RS oo M orEH,
| O / HR|SEIENE, BEERRET0", R RaERiEm BRI R T E IR R, BHIS IR SR MOV RIERS.
| @mEre — 0k B, WZRAEERS (MEFR) . ERBRISRSH, FRUAREFNTDTE WERLE,
N ! —_ o] — > Als) g REE), BHATE MLk
{5 EH | @ - O 3. SHERWERE: BERSRRRSS SRS REBRER), BHATERRSME 400830 2200
e | et @) /20, REEHSHHETEENKE, BRERS e RIERR
\\) \) 3 -L | | Az =1 ] 7'2
: M, SBIAKEVNNIRFFTES MUEIEE, AR IATF R =& 64
CT04 + CTS GTO04 + GT5 ! -~ zEm HESHRHE M NBIARIRFFZE (RNE3FR) BrisBtE Ak
w N — =
3 4. BESERTSERIARE BT D =
| il i ; 5. HAREIRRER (NESHR) ERES mxEM:
| 6. BEREFOA/MRL3/8E1/4 (MEICFTR) MRS RS
‘ s _ A
! B, . 7. WEWRERAE (WE7FR) -
| NS T <«—(H _ 2 == =
| “ , o—— 8. BHHHZFL (ANE8FR) W&
I N A
SIRUIFCE ; ; 9. I NE9F7~ o= 5 5 S
! & . o REEFTFERE FREWE, NEFRSH Frmrezng @) g il B BHEME, WAILESHBNRE. WES=RAERE BUENER | RERRE FRMRERRE, nEsiEieE @ 455 szEmEsemm @ 1, RESieK THER: (GRET) L @‘ﬁfi = *fﬁgﬂ%%mﬁmmﬁ)’T%”'Eﬂ
‘ BIBER RS 1 (B) PEFEILFRIE1 (S BRI EE RSB ROERRAER, P &, WERTIUSHREE, NEBEBECE Bk (D) iSRS MHEE, AR giﬁ;ﬁﬂ%ﬁj&,ﬁmﬂiﬂﬁﬁmi SR T RS AT
TRBGRE A 1 HAER R ERUREE psEE— A @) ML, @) ERAFRROREIE. ) &, BREESEAEEE G) BFHEE ZEDAIIE . - S po - PRIEF aa, RV R IE U ATV S 2 S
it méqumr;ﬁ;;ﬁgﬁmﬂ Wi sosdse | T @) i - o o o e BiE: ST-1245ST-125KBIETETEL, ST-124794158, 3. BUREFEB S T8, ok T BRI BIE, ik
FiF: 0760-88897373 15 H: 0760-88207062 AR S #i4k: 400 830 2299 ! - M == ERAM /NS EEE __pny = N
#4: info@sirui-photo.com RIHE: www.sirui.com ! - - - - ST'1 25 S 5 = 5515—%)%, u::\%;eL\EJg(}E;EEJéﬁo ﬁi&ﬂﬁﬁﬂ&? | If’EEW
o ressseoss ””t | e H2 B2 H3 E4 B3 3-2 4 #TE SR,
| WRmREeRmmmmee ! 4. ERRIE BT & £ RS, BT
| BB T S A, AR SR ER AR
: . " X RS ML,
TR | 5. HERRAEFIRIRER 6. F&E1/4'53/8"1244 7. HIBHERA 8. BiHEFIRFL 9. HPimEHE 5. R REBE:
& ‘ O 1B RAEHBIRA;
W o o | o ” o N @ IR ERBINE B LWL ;
. 2 % ‘ & Ef 1/4° 53/8" B 48 BRI, . ;
s 23 : SR U4 AR BALAR ARED: ® TERM BB RIBR SRR LHE 19;
| &, TR IR, e R s s @ BT RIE LHR1E. BINTIEL BARE SHIHERR L.
iﬁé c o | ﬁ“ FEBIRANGERE GEEEHI=mUA); % AR QIR R E A
=i 93 ! A\ SERAFEREN, NEEHERERE,
f: 88 1 YDERERT S TA0RKERET 1008 REEHR, HiEBIRR
<5 8§ | '} LR, D R LRNIE RS, B R s
. | FF KRB, FRWIERAPER; ‘
S 3 g DI R KB A AT T R 5 RIS, BERE
£ T T | K BIANKE ER T 2 R SR IS E—
|< %g o o EARMAERN, NEEBEARET, 1778 T
™ A | REMEIHEMARTE, HR4f
¢l | * Y e s s St 701 N
ﬁ\ ® f 7+ | N EEEREET, BEE (PN MR L6,
o - \
% o ! BRRIEETIRERREDES, BELRKIVHM WSS R
2 @5z | PR S R B R
|_|! . ! 1 (O 1EH R ER R , S HRMTEWSARGIT EHE TR, Wi tzeasigzl, () 73/8F, @) 791/45F S RE R AT AL, ERRSIEEE RIFERE, INS&LEEEARNNDE M, INHhsE
@ \\ £ os < ! A AR N R T TR i ALIBRENRF ©) 8L © #HTHE HIFEDETEEE TS ) FE, RERINETEEHEOHE; HIEARER
! EIEFRENREENNE N o ~ O 5 S|
A | = § NESRLER, IR RERETBR, aligall)
23 | =
B 23 I Ee &7 8 9 S BHARRET AR T RARMEES WS LT, AT, BRBHEN.
0L : ENRI & EINBENRIESIR L IAIE 75 ERYEEIRIMIE R NME, BUE TR,
N — | B ER _ . _ XEBNEFREZE, ENBEGNE
v S ERIREALEN SRR ENSRBENERS LNTFERT | BENEANER e 0e g =
SIRUI OEZ B LREENSBENAE, & KF 731 L RSLII360° BEACIHIR: A
PG BT N AR {2 28 4R 91 4 i 68 TREEMSBEM. ARSI R - E@ﬂm;m FISO" AR, RSO
=7 N R kv ég S 7 ' ﬂi S ] = °
FakFH L, . = S o
. - ' o QEMREREZAR, BRAFHKESR
& A5 BA WraREE B b i O AN BENAEE LB
_ R EE K 3% : h TERERREEEN:-20° ~+60° . — N « b dE g g
N[ =0 PN \ e WESHT ™, A ORI IR KR
CTS/GTSR U RERERS ;2 o ORARHMARE: -60° ~ +90° . B, EFHTREEE, KERSHR
T R OEFTHR, MBHIRETRY, EARMEN BRI E AR AREAT S
N EEEHMABEKETLSE. B, BAMBh— B .
— I + - s S
\iﬁ\ 2. ZEMEREN B 10, (REERMENHBEN LET
0 EARR T, I B S 4L TR AR 4T,
= 3LRETA B 422 4R
OMRER =M Z £ RBUNCI/4"EE 2
7= — — 7= M . = - \ N —
téwﬁhﬁ. Ene LR, IREMRER “, BLEEESIMUE — @ M RERLEEEZAEL

UNC3/8"RyiEIZIR 2,
@ E2R R, BT & KERAIUNCI/871IR

W B3R R, 4B R 3% AR 8 AR E S 1 B St
HEMBHF, BREWNANKEZBES.

IERBHAZRBARLR

1% 70 abarar (A R: O760-a8307062 %A 400 630 5200 LRI ERUNCI/8TIREE, IR MR EERY R IE B AN 77 8 1A R R R
#B#8: info @sirui-photo.com PkE: www.sirui.com "lﬁi HTJ' I‘E-I- ﬁﬁ tﬁz: = é Fﬁ_ E—'E z= $ E ?Jﬁ I,% j‘] *}i .
1.
CT5/GT5 8% & . . 12. ZENBIZREIRT
a 4 REWAEE LHT ME R, EKEHERE, E2
4op [i E m WESFT T, BRERG R IR LA S : aFeek TR, RAEENEES
e HSER BARE TeRE BT, BRTHREZRE, ARIERER s &, HIELMEIZE FIEH.
crs) mm k9 kg kg MEERE. NREMEREHDH EH
300x120x83 0.6 3 1 2 &3 Al $F ED IR EE AR . . _ .
61> T.HNSBEENEZE L&A
. s s . WEGHTR, AT REEHICERIABE ), AEBHIRERVLE, UE=A
AR bR, IRERER 5. AR R MM RIEHA L Lk T SR EE K TR, BRI
o KEELRKFER, IBENKBENEZKTEFTE, BHE “HRERSZE
— — WMEAFT R, RE\EEANKBEENREEZEE g7,
] iﬂﬂfﬁﬁ"]@mfw’ HR IR 5t 77 1 8 EE: BERLENE S A REKTER, BRMRKE.
{ KERET .

8. BENzaRER

f 6. HENNBRIREE=SL TR, EAFTEREEER, ENES BT RERD . BEE
- Lf\ SMEIFTR, B R AAR B9 1A 2 AL MM, AL SRR AL TR M S R A T
< s ﬁgx*@?ﬁ)\ﬂn’ BRARRE—TH XIRE TR BT HENA" . WUBES A WMD),
| o o

MIREEHT R “KEHRER” , TABMETAKFE.

|

_ ) e : EE: FRAENKE G AN SR
S “RIEET EEAL, HEILKBRILAS
&4 &5 )‘Aﬁ s J:Ege:rg BHEARARBFERARMNA FRARMEEESHANNF, BUALWAE, BABTEM.
=) i o FIRIR LA FD RIS RS B A AR SR, 0K 6,



